¥ .YiTh A B om (5

llhu--_-ul
- W W w w ow ¥
[N NN

yywwwwmmaaaaaa W
ACAtdrTiy. W B oW oW ]
w w v v.Ti s B
A& AR A AESSwww
L R

AW oW 1 E S m ===
CT VR TS A

KASNAK KORUMA SACLARI
SHEAVE PROTECTION COVERS

o
<
-l
>
=
0
<
=
=)
o
o
x
x
=
=
2]
<
x

SHEAVE PROTECTION COVERS




SAPTIRMA KASNAGI KORUMA SACI
DIVERTING SHEAVE PROTECTION COVER

] 192

16,50

252
[=—}
—>
57/
—D
—

i
/

39

R MAX KASNAK CAPI SAC KALINLIGI = A AGIRLIK
URUN KODU UYUMLU BAGLANTI VIDASI
PRODUCT CODE MAX SHEAVE DIAMETER SHEET IRON THICKIVESS COMPATIBLE CONNECTION BOLT WEIGHT
(@ mm) (mm) (kg)
1,70

15007 400 1 M12 (4 ad/pcs)

TUM METAL YUZEYLER GALVANIZLIDIR.
ALL METAL SURFACES ARE GALVANIZED.

282 www.aspar.com



TAHRIK KASNAGI KORUMA SACI
TRACTION SHEAVE PROTECTION COVER

R335
g ﬁ 535
22 138
= 220 100
5
N e N F ]S
3 — — 2
|15 20 _
_ =0
Iy
0o
=\
wn =
I O
=5
=
N
S8
> X
CES
=
W
< T
XN
{RUN KODU MAX KASNAK CAPI SAC KALINLIGI ALTIKOSE SOMUN PUL UYUMLU BAGLANTI ViDASI | AGIRLIK
et MAX SHEAVE DIAMETER SHEET IRON THICKESS HEXAGON NUTS FLATWASHERS | COMPATIBLE CONNECTIONBOLT | WEIGHT
(@ mm) (mm) (DIN 933) (DIN 934) (DN 125) (kg)
15006 650 1 M12 (4 ad/pcs) M12 (4 ad/pcs) M12 (3 ad/pcs)

TUM METAL YUZEYLER GALVANIZLIDIR.
ALL METAL SURFACES ARE GALVANIZED.

www.aspar.com 283



SAPTIRMA KASNAGI KORUMA SACI
DIVERTING SHEAVE PROTECTION COVER

KOD
CODE

e e e e e
530 530 555

min:530

15002 210 min:530 480

15004 210 590 590 min:590 480 555
max:690

I OLCULER MAXc'f_\’ﬁNAK KALNLE | ALTIKOSE BASLICIVATA | ALTIKOSE SOMUN | TABANBAGLANTI | AGIRLIK
PRODUCT CODE DIMENSIONS MIAX SHEAVE SHEETIRON HEXAGON HEAD BOLTS HEXAGON NUTS VIDASI WEIGHT
(mm) DIAMETER (@ mm) | THICKNESS{mm) THREADED UP TO HEAD (DIN 933) (DIN 934) BASE CONNECTION BOLTS (kg)
_ISTEGE OZEL
15000 OLCUDE IMALAT - 08 M8x15 (32 ad/pcs) M8 (32 ad/pcs) M8 -
SPECIAL PRODUCTION
15002 530x180h5530 520 08 M8x15 (32 ad/pcs) M8 (32 ad/pcs) M8 4,70
15004 590x180 h:590 590 08 M8x15 (32 ad/pcs) M8 (32 ad/pcs) M8 500

KOLIDEKi MiKTAR EN BOY YUKSEKLIK AGIRLIK
PACKAGE QUANTITY (pcs) WIDTH (cm) LENGHT (cm) HIGH (cm) WE/GHT(kg)
5 59 59 12 25,00

TUM METAL YUZEYLER GALVANIZLIDIR.
ALL METAL SURFACES ARE GALVANIZED.

284 www.aspar.com



TAHRIK KASNAGI KORUMA SACI
TRACTION SHEAVE PROTECTION COVER

-_ N
[a g
Iy
wiS)
=\
wn =
I O
=5
=
N
©9
¥ QL
Iy
KoD =
CODE 2 %
min:530 X\
15001 130 210 530 530 230 480 555
min:590
15003 130 210 590 590 290 480 555

I OLCULER MAXQ'E\‘};C;NAK KALNLE | ALTIKOSE BASLICIVATA | ALTIKOSE SOMUN | TABANBAGLANTI | AGIRLIK
PRODUCT CODE DIMENSIONS MAX SHEAVE SHEETIRON HEXAGON HEAD BOLTS HEXAGON NUTS VIDASI WEIGHT
(mm) DIAMETER (@ mm) | THICKNESS{mm) THREADED UP TO HEAD (DIN 933) (DIN 934) BASE CONNECTION BOLTS (kg)
_ISTEGE OZEL
15000 OLCUDE IMALAT - 08 M8x15 (32 ad/pcs) M8 (32 ad/pcs) M8 -
SPECIAL PRODUCTION
15001 530x180h5530 520 08 M8x15 (32 ad/pcs) M8 (32 ad/pcs) M8 4,50
15003 590x180 h:590 590 08 M8x15 (32 ad/pcs) M8 (32 ad/pcs) M8 4,80

KOLIDEKi MiKTAR EN BOY YUKSEKLIK AGIRLIK
PACKAGE QUANTITY (pcs) WIDTH (cm) LENGHT (cm) HIGH (cm) WE/GHT(kg)
5 59 59 10 24,00

TUM METAL YUZEYLER GALVANIZLIDIR.
ALL METAL SURFACES ARE GALVANIZED.

www.aspar.com 285



N
[os]
a
=3
=3
=
I
wn
o
I
-
(=]
3

KASNAK KORUMA SACI KULLANMA TALIMATI
OPERATING INSTURACTION OF SHEAV/E PROTECTION COVER

NORMAL KULLANIM ) ) ) . ) L
KORUMA SACINI UYGUN BIR SEKILDE TAHRIK KASNAGINI KAPATACAK SEKILDE YERLESTIRINIZ.

KUTUDAN CIKAN 1 NOLU BAGLANTI PROFILINi UYGUN BIR SEKILDE MAKINE SASESINE VIDALAR
YARDIMI ILE MONTE EDINiZ. VIDALARI MONTE ETMEK iGiN GEREKIYORSA MAKINE SASESINE
M8x15 VIDAYA UYGUN DELIKLER AGINIZ.

KORUMA SACI, SAC MAKASI ILE KESILEBILMEKTEDIR, GEREKTIGINDE UYGUN YERDEN KESEREK
HALATIN GECMESINi SAGLAYINIZ.

ORDINARY USE
ESTABLISH THE PROTECTION COVER A WAY TO COVER OF THE TRACTION SHEAVE.

ASSEMBLE THE CONNECTION PART OF PROFILE OF NO:1 WHICH IS GIVEN WITH PRODUCTS TO TRACTION MACHINE
SUSPENSION WITH HELP OF SCREWS.

THE PROTECTION COVER CAN BE CUT BY WIRE CUTTER. WHEN NECESSARY CAN BE PROVIDED TO PASS OF ROPES BY
CUTTING APPROPRIATE PLACE.

YUKSELMEK GEREKIRSE . _ 3 o .
KASNAK KORUMA SACI YOKSEKLIGI YETERSIZ GELIRSE 2 NOLU BAGLANTI PROFiLl iLE RESIMDE
GOSTERILDIGI GiBi MONTE EDiNiz. BU YAKLASIK 10 cm MESAFE KAZANDIRACAKTIR.

IF NECESSARY ELEVATE
IFINSUFFICIENT OF HEIGHT OF PULLEY PROTECTION COVER, SHOULD BE MOUNTED AS SHOWN IN THE FIGURE AT NO:2
WITH CONNECTION PROFILE. THIS OPERATE CAN PROVIDE A DISTANCE OF 10 cm.






